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QUESTION NO: 1

Complete the sentence A business scenario describes______________

A. shortfalls between the Baseline and Target Architectures 

B. business domain gaps such as cross-training requirements 

C. business and technology environment in which those problems occur

D. general rules and guidelines tor the architecture being developed

ANSWER: C 

Explanation:

A business scenario describes business and technology environment in which those problems occur. It provides a realistic 
context for identifying and addressing business problems and opportunities, as well as their impact on the enterprise’s 
architecture. Reference: The TOGAF® Standard | The Open Group Website, Section 3.3.1 Business Scenarios.

QUESTION NO: 2

Complete the following sentence:

Presenting different_________and_________to stakeholders helps architects to extract hidden agendas principles and 
requirements that could impact the final Target

Architecture

A. Alternatives Trade-offs

B. Solutions Applications

C. Architecture Views Architecture Viewpoints

D. Business Scenarios Business Models

ANSWER: A 

Explanation:

Presenting different alternatives and trade-offs to stakeholders helps architects to extract hidden agendas principles and 
requirements that could impact the final Target Architecture. Alternatives are different ways of achieving a desired outcome, 
while trade-offs are compromises or sacrifices that must be made to choose one alternative over another. Reference: The 
TOGAF® Standard | The Open Group Website, Section 3.3.1 Business Scenarios.

QUESTION NO: 3
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Complete the sentence The Enterprise Continuum provides methods for classifying architecture artifacts as they evolve 
from________________________.

A. Solutions Architectures to Solution Building Blocks

B. generic architectures to reusable Solution Building Blocks

C. Foundation Architectures to re-usable architecture assets

D. generic architectures to Organization-Specific Architectures

ANSWER: D 

Explanation:

The Enterprise Continuum provides methods for classifying architecture artifacts as they evolve from generic architectures to 
Organization-Specific Architectures. Generic architectures are architectures that have been developed for use across a wide 
range of enterprises with similar characteristics. They provide common models, functions, and services that can be reused 
and adapted for specific purposes. Organization-Specific Architectures are architectures that have been tailored to meet the 
needs and requirements of a particular enterprise or a major organizational unit within an enterprise. They reflect the unique 
vision, goals, culture, structure, processes, systems, and technologies of that enterprise or unit. Reference: The TOGAF® 
Standard | The Open Group Website, Section 2.3 Enterprise Continuum.

QUESTION NO: 4

Consider the following ADM phases objectives.

Which phase does each objective match?

A. 1F-2G-3F-4F 

B. 1E-2F-3E-4G 

C. 1G-2E-3F-4E

D. 1F-2F-3E-4G
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ANSWER: B 

Explanation:

1E: To identify delivery vehicles (projects programs portfolios) that will deliver the Target Architecture 2F: To confirm 
readiness and ability to undergo change 3E: To determine whether an incremental approach is required and if so identify 
Transition Architectures that will deliver continuous business value 4G: To perform appropriate governance functions while 
the solution is being implemented

Reference: The TOGAF® Standard | The Open Group Website, Section 3.2 ADM Phases.

QUESTION NO: 5

Consider the following statements

1 A whole corporation or a division of a corporation

2 A government agency or a single government department

3 Partnerships and alliances of businesses working together such as a consortium or supply chain

What are those examples of according to the TOGAF Standard?

A. Enterprises

B. Business Units 

C. Organizations

D. Architectures Scopes

ANSWER: A 

Explanation:

Enterprises are examples of the scope of an architecture according to the TOGAF Standard. An enterprise is defined as any 
collection of organizations that has a common set of goals and/or a single bottom line. Enterprises can be whole 
corporations or divisions of a corporation, government agencies or single government departments, partnerships and 
alliances of businesses working together, etc. Reference: The TOGAF® Standard | The Open Group Website, Section 2.1 
Core Concepts.
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